
Sitzverteilung nach dem Verfahren Hare-Niemeyer 
 
 
Ausgangszahl: 19 Sitze 
 
 
 

 
 

Lfd. 

Nr. 

Partei 

Wählergruppe 

Stimmenzahl Ausgangszahl 

(Zahl der Sitze) 

x 19 : 

Gesamt- 

Stimmenzahl 

64 

         Anteil 

 

 

= 

Sitze nach 

ganzen Zahlen 

Sitze nach dem 

größten Rest 

Erste 

Zuteilungszahl 

1 CDU 26 

  

7,7188 7 + 1 8 

2 SPD 13 

  

3,8594 3 + 1 4 

3 GRÜNE 12 

  

3,5625 3  3 

4 FDP 4 

  

1,1875 1  1 

5 FWG 4 

  

1,1875 1  1 

6 

DIE 

FRAKTION 3 

  

0,8906 0 + 1  1 

7 AfD 2 

  

0,5938 0 + 1  1 

Gesamt 64 

  

 15  19 


